

L^1 -Convergence of Fourier Series with O -Regularly Varying Quasimonotonic Coefficients

VERA B. STANOJEVIC

*Department of Mathematics,
Southwest Missouri State University,
Springfield, Missouri 65804, U.S.A.*

Communicated by R. Bojanic

Received March 15, 1988

Among various generalizations of sequential monotonicity, the quasimonotonic sequences of O. Szasz [1] play a prominent role in the theory of L^1 -convergence of Fourier series. As S. A. Telyakovskii and G. A. Fomin [2] have shown, quasimonotonic Fourier coefficients form an important L^1 -convergence class.

A null sequence $\{a_n\}$ of real numbers is quasimonotonic if, for some $\alpha \geq 0$, the sequence $\{a_n/n^\alpha\}$ is monotonic. For $\alpha = 0$, quasimonotonicity reduces to monotonicity.

The significance of quasimonotonic sequences is well illustrated by the following result in [2].

THEOREM A. *Let*

$$\frac{a_0}{2} + \sum_{n=1}^{\infty} a_n \cos nx \tag{1}$$

be the Fourier series of some $f \in L^1(0, \pi)$. If $\{a_n\}$ is quasimonotonic then

$$\|S_n(f) - f\| = o(1), \quad n \rightarrow \infty, \tag{2}$$

is equivalent to

$$a_n \lg n = o(1), \quad n \rightarrow \infty, \tag{3}$$

where $S_n(f, x) = S_n(f) = a_0/2 + \sum_{k=1}^n a_k \cos kx$ and $\|\cdot\|$ denotes $L^1(0, \pi)$ -norm.

A similar result is valid for the sine series.

Recently an attempt has been made in [3] to extend the idea of quasimonotonic sequences and, consequently, to obtain a generalization of Theorem A. Instead of the sequence $\{n^\alpha\}$, $\alpha \geq 0$, W. O. Bray and Č. V. Stanojević [3] used a regularly varying sequence $\{\gamma(n)\}$ as a gauge. A non-decreasing sequence $\{\gamma(n)\}$ of positive numbers is regularly varying in the sense of J. Karamata [4] if for some $\rho \geq 0$

$$\lim_n \frac{\gamma([\lambda n])}{\gamma(n)} = \lambda^\rho, \quad \lambda > 1.$$

A null sequence $\{a_n\}$ of real numbers is defined in [3] to be regularly varying quasimonotonic if for some regularly varying sequence $\{\gamma(n)\}$ the sequence $\{a_n/\gamma(n)\}$ is monotonic.

In [3] the following generalization of Theorem A is proposed.

THEOREM B. *Let (1) be the Fourier series of some $f \in L^1(0, \pi)$. If $\{a_n\}$ is a regularly varying quasimonotonic sequence, then (2) is equivalent to (3).*

An effort is made in [3] to prove Theorem B by estimating $\|S_n(f) - \sigma_n(f)\|$, where $\sigma_n(f)$ are $(c, 1)$ -means of the partial sums $S_n(f)$ of (1). Apparently this is too coarse a method for such a substantial generalization of Theorem A. (At the end of the proof of sufficiency in [3] there is also a typographical error that makes the rest of the proof invalid.)

In this paper we shall show that Theorem B may be further generalized if sharper estimations are used. For this purpose we need a non-decreasing O -regularly varying sequence of positive numbers. A non-decreasing sequence $\{R(n)\}$ of positive numbers is O -regularly varying if

$$\overline{\lim}_n \frac{R([\lambda n])}{R(n)} \text{ is finite, for } \lambda > 1.$$

A null sequence $\{a_n\}$ of real numbers is O -regularly varying quasimonotonic if for some non-decreasing O -regularly varying sequence $\{R(n)\}$ of positive numbers, the sequence $\{a_n/R(n)\}$ is monotonic. (Notice that the sequence $\{a_n\}$ is necessarily positive.)

We now have the following theorem.

THEOREM. *Let $\{a_n\}$ be an O -regularly varying quasimonotonic sequence, and for some even $f \in L^1(0, \pi)$ let $\hat{f}(n) = a_n$ for $n = 0, 1, 2, \dots$. Then the necessary and sufficient condition for $\|S_n(f) - f\| = o(1)$, $n \rightarrow \infty$, is $a_n \lg n = o(1)$, $n \rightarrow \infty$.*

Proof. Sufficiency. Assume that $a_n \lg n = o(1)$, $n \rightarrow \infty$. For $\lambda > 1$ consider the identity

$$\begin{aligned} f(x) - S_n(f, x) &= \frac{1}{[\lambda n] - n} \sum_{k=n+1}^{[\lambda n]} \sum_{j=n+1}^k \Delta a_j D_j(x) \\ &\quad - \frac{[\lambda n] + 1}{[\lambda n] - n} (\sigma_{[\lambda n]} - f) + \frac{n+1}{[\lambda n] - n} (\sigma_n - f) \\ &\quad + \frac{1}{[\lambda n] - n} \sum_{k=n+1}^{[\lambda n]} a_{k+1} D_k(x) - a_{n+1} D_n(x), \quad (4) \end{aligned}$$

where D_n is the Dirichlet kernel. Since

$$\|D_n\| = \frac{4}{\pi^2} \lg n + O(1), \quad n \rightarrow \infty,$$

then after taking the norm of both sides of (4), majorizing the right-hand side, and taking n sufficiently large, we get

$$\begin{aligned} \|f - S_n(f)\| &\leq \frac{1}{[\lambda n] - n} \sum_{k=n+1}^{[\lambda n]} \sum_{j=n+1}^k |\Delta a_j| \left(\frac{4}{\pi^2} \lg j + O(1) \right) \\ &\quad + \frac{[\lambda n] + 1}{[\lambda n] - n} \|\sigma_{[\lambda n]}(f) - f\| + \frac{n+1}{[\lambda n] - n} \|\sigma_n(f) - f\| \\ &\quad + \frac{1}{[\lambda n] - n} \sum_{k=n+1}^{[\lambda n]} a_{k+1} \left(\frac{4}{\pi^2} \lg k + O(1) \right) \\ &\quad + a_{n+1} \left(\frac{4}{\pi^2} \lg n + O(1) \right). \end{aligned}$$

Majorizing the right-hand side of the last inequality we have

$$\begin{aligned} \|f - S_n(f)\| &\leq 2 \sum_{k=n+1}^{[\lambda n]} |\Delta a_k| \lg k \\ &\quad + \frac{[\lambda n] + 1}{[\lambda n] - n} \|\sigma_{[\lambda n]}(f) - f\| + \frac{n+1}{[\lambda n] - n} \|\sigma_n(f) - f\| \\ &\quad + \frac{1}{[\lambda n] - n} \sum_{k=n+1}^{[\lambda n]} a_{k+1} \lg(k+1) + o(1) + a_{n+1} \lg(n+1). \quad (5) \end{aligned}$$

Taking the limit superior of both sides of inequality (5) we obtain

$$\begin{aligned} \overline{\lim}_n \|f - S_n(f)\| &\leq 2 \overline{\lim}_n \sum_{k=n+1}^{[\lambda n]} |\Delta a_k| \lg k \\ &+ \overline{\lim}_n \frac{[\lambda n] + 1}{[\lambda n] - n} \cdot \overline{\lim}_n \|\sigma_{[\lambda n]}(f) - f\| \\ &+ \overline{\lim}_n \frac{n + 1}{[\lambda n] - n} \cdot \overline{\lim}_n \|\sigma_n(f) - f\| \\ &+ \overline{\lim}_n \left[\frac{1}{[\lambda n] - n} \sum_{k=n+1}^{[\lambda n]} a_{k+i} \lg(k + 1) \right] \\ &+ \overline{\lim}_n a_{n+1} \lg(n + 1). \end{aligned}$$

For $f \in L^1(0, \pi)$, the second and the third term in the above inequality are $o(1)$ as $n \rightarrow \infty$. The fourth and the last term in the above inequality are also $o(1)$ as $n \rightarrow \infty$, according to our assumption $a_n \lg n = o(1)$, $n \rightarrow \infty$. Therefore it remains to estimate the first term in the above inequality and to show that it is also $o(1)$ as $n \rightarrow \infty$, for O -regularly varying quasimonotonic coefficients for which $a_n \lg n = o(1)$, $n \rightarrow \infty$.

From the monotonicity of the sequence $\{a_n/R(n)\}$ we get

$$\begin{aligned} \sum_{k=n+1}^{[\lambda n]} |\Delta a_k| \lg k &\leq R([\lambda n]) \lg[\lambda n] \sum_{k=n+1}^{[\lambda n]} \left(\Delta \frac{a_k}{R(k)} \right) \\ &+ \sum_{k=n+1}^{[\lambda n]} R(k) \left(\frac{1}{R(k)} - \frac{1}{R(k+1)} \right) a_{k+1} \lg(k + 1) \\ &\leq R([\lambda n]) \lg[\lambda n] \left(\frac{a_{n+1}}{R(n+1)} - \frac{a_{[\lambda n]+1}}{R([\lambda n]+1)} \right) \\ &+ \max_{n+1 \leq k \leq [\lambda n]} (a_{k+1} \lg(k + 1)) \sum_{k=n+1}^{[\lambda n]} \left(1 - \frac{R(k)}{R(k+1)} \right) \\ &\leq \frac{R([\lambda n])}{R(n)} \cdot \frac{\lg[\lambda n]}{\lg n} \cdot a_{n+1} \lg(n + 1) \\ &+ \max_{n+1 \leq k \leq [\lambda n]} (a_{k+1} \lg(k + 1)) \\ &\times \frac{R([\lambda n])}{R(n)} \sum_{k=n+1}^{[\lambda n]} \left(\frac{R(k+1)}{R(k)} - 1 \right). \end{aligned}$$

Taking the limit superior of both sides of the last inequality we have

$$\begin{aligned} \overline{\lim}_n \sum_{k=n+1}^{[\lambda n]} |\Delta a_k| \lg k &\leq \overline{\lim}_n \frac{R([\lambda n])}{R(n)} \cdot \overline{\lim}_n \frac{\lg[\lambda n]}{\lg n} \cdot \overline{\lim}_n (a_{n+1} \lg(n+1)) \\ &\quad + \overline{\lim}_n \max_{n+1 \leq k \leq [\lambda n]} (a_{k+1} \lg(k+1)) \cdot \overline{\lim}_n \frac{R([\lambda n])}{R(n)} \\ &\quad \cdot \overline{\lim}_n \sum_{k=n+1}^{[\lambda n]} \left(\frac{R(k+1)}{R(k)} - 1 \right). \end{aligned}$$

Recalling that $\overline{\lim}_n (R([\lambda n])/R(n))$ is finite for $\lambda > 1$, and $\lim_n (\lg[\lambda n]/\lg n) = 1$, and that $a_n \lg n = o(1)$, $n \rightarrow \infty$, holds, we conclude that the first term on the right-hand side of the last inequality is $o(1)$, as $n \rightarrow \infty$. It remains to show that

$$\overline{\lim}_n \sum_{k=n+1}^{[\lambda n]} \left(\frac{R(k+1)}{R(k)} - 1 \right) \text{ is finite, for } \lambda > 1. \quad (6)$$

Indeed, from

$$\sum_{k=n+1}^{[\lambda n]} \left(\frac{R(k)}{R(k-1)} - 1 \right) \leq \prod_{k=n+1}^{[\lambda n]} \left[1 + \left(\frac{R(k)}{R(k-1)} - 1 \right) \right] = \frac{R([\lambda n])}{R(n)}$$

it follows that

$$\overline{\lim}_n \sum_{k=n+1}^{[\lambda n]} \left(\frac{R(k)}{R(k-1)} - 1 \right) \leq \overline{\lim}_n \frac{R([\lambda n])}{R(n)}.$$

(As a matter of fact the condition (6) is a necessary and sufficient condition for a non-decreasing sequence $\{R(n)\}$ of positive numbers to be an O -regularly varying sequence.) This completes the proof of sufficiency.

Necessity. Suppose that $\|S_n(f) - f\| = o(1)$, $n \rightarrow \infty$, holds. From the well-known inequality

$$\|S_n(f) - f\| \geq \sum_{k=1}^n \frac{a_{n+k}}{k},$$

and from the fact that $(a_n/R(n)) \downarrow$, we get

$$\|S_n(f) - f\| \geq \frac{a_{2n}}{R(2n)} \sum_{k=1}^n \frac{R(n+k)}{k} \geq C a_{2n} \lg n \frac{R(n)}{R(2n)},$$

where C is an absolute constant. Thus

$$C a_{2n} \lg n \leq \frac{R(2n)}{R(n)} \|S_n(f) - f\|.$$

Taking the limit superior of both sides of the last inequality, the proof of necessity follows.

Clearly, Theorem B is a corollary to our Theorem.

It would be of interest to prove a theorem corresponding to the above result in the case of Banach space $L^1(T)$, $T = \mathbb{R}/2\pi\mathbb{Z}$, of complex valued Lebesgue integrable functions, following the ideas of complex sequential monotonicity [5, 6].

REFERENCES

1. O. SZASZ, Quasi-monotone series, *Amer. J. Math.* **70** (1948).
2. S. A. TELYAKOVSKII AND G. A. FOMIN, On the convergence in L metric of Fourier series with quasimonotone coefficients, *Trudy Mat. Inst. Steklov.* **134** (1975), 310.
3. W. O. BRAY AND Č. V. STANOJEVIĆ, On weighted integrability of trigonometric series and L^1 -convergence of Fourier series, *Proc. Amer. Math. Soc.* **96** (1986), 53–61.
4. J. KARAMATA, Sur un mode de croissance régulière des fonctions, *Mathematica (Cluj)* **4** (1930), 38–53.
5. V. B. STANOJEVIC, L^1 -Convergence of Fourier series with complex quasimonotone coefficients, *Proc. Amer. Math. Soc.* **86** (1982), 241–247.
6. V. B. STANOJEVIC, Convergence of Fourier series with complex quasimonotone coefficients of bounded variation of order m , *J. Math. Anal. Appl.* **115** (1986), 482–505.